Figure 1. Correlation for TCA (all data)
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Figure 2. Correlation for TCA Results < Henry's Law Screen
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Figure 3. Correlation for TCA Results > Henry's Law Screen
TCA Result >42300 = 26200 + 0.7445 TCA Screening >42300
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Figure 4. Correlation for TCE (All Data)
TCE Results-All = 9652 + 0.8446 TCE Screening-All
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Figure 5. Correlation for TCE Results < Henry's Law Screen
TCE Result <2000 = 3.94 + 0.1546 TCE Screening <2000
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Figure 6. Correlation for TCE Results > Henry's Law Screen
TCE Result >2000 = 18256 + 0.8258 TCE Screening >2000
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